Ei

(ElEEWH)
Hi
H ‘ L
p ALG-R
y )
¥ [ALGR] T 2 B
CHEFEIRAR) 2L
ALG| | oponcap) | MEAZHE
o 22
(ElEEWH)
o R
1)
Eid) = D M Ds H L W )
ALG16 16 | M 6x1 10 50 1 3 20
ALG20 20 | M8x12s| 13 64 13 4 35
ALG25 25 | M10X15 | 16 80 14 5 75
ALG32 32 | M2x175 | 20 100 21 6 130
ALG-R| (HE4:1E4R)
] = J\E
Fil) = D M Dn H Ha L W (g)
ALG16R 16 | M 6x1 10 | 545 49 | 11 3 35
ALG20R 20 | M8x125| 13 | 67 | 61 | 13 | 4 55
ALG25R 25 | M10X15 | 16 | 83 | 75 | 14 | 5 95
ALG32R 32 | M12x175 | 20 | 1055 | 95 | 2f 6 | 19
B &

BLEIRANAIL, UERRFEEER.

L EEEIN

WAMEMLE, SM=RRTETRRE.




